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public class MrHappyQbject {
private String _mood = _HAPPY,;
private final static String _HAFPPY = "happy";
private final static String _ANMNOYED = "annoyed”;
private final static String _ANGRY = "angry";
public void printMood) 1
System.out.printing "I am " + _mood };
¥
public void receivePinchi) {
iff _mood.equals{ _HAPPY 3 3 1
_mood = _ANMOYED,
T else q
_mood = _ANGRY;
L

¥
public void receiveHug(y {

iff _mood.equals{ _ANGRY 3 0 1
_mood = _ANMOYED,
T else q
_mood = _HAPPY;

¥
¥
¥

~ Credit: Tony Sintes, JavaWorld.com, 11/21/01



MrHappyObject objl
MrHappy Object obj2
objl.printMood);
obj2.printMood);

new MrHappyCbject(),
new MrHappyCbject(),

objl.receiveHuqg);
obj2.receivePinchi);
ob)l.printtMood{;
obj2. printMood{;

private static int _instantiations;
public MrHappyObject() {
_Instantiations++;

¥

public static int instances() {
returﬁ.“_iﬂstantiatiuﬂs,'

¥

----------------------------------------------------
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(Template Method, Builder) aix'v ninian =

NX' NT2 D'0I9'V 7V YT |
NYIN'l NINan =

(NTINNI DY) Mwn nin7ap =
NYN nvi7 yin'y =
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Template Method Design Pattern

1
NITINN 7¥ D210 Y NN'TAN NIVYOIN NI7NN =

(effective, concrete) ni'wvnn niTnNn =
(abstract, deferred) niowom niTinn =

DAION Y 7W NVWOAN NN 1A 'nan? N W
MI2AN L' ('Y NNTAN A'YNAND NITINNN =

N2 [Ntvaw (hooks) a max nN'Tan NIvYsIinn NITNAN =
NIYAIN NIPNNAa 07750 D'MNMIARN DX wnn? aqae

NDo1on NaI7ZnMmvn — 127 My =

DY NINDN 2NN X7 N1onna changeTop NTINNN WiNnM RNAIT =
NNxy naonnn
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abstract class AbstStack <T> implements IStack<T> {

public void change top(T t) {
pop ();
push(t);

}

abstract public void push(T t);
abstract public void pop();

}

DN7W NTINQ 70 X7X pOpP IX push 7w win'ma 19N 11'k change _top nnwn =
7D DnMa7x nadn change _top =
callbacks ix hooks noin push -1 pop =
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,(abstract NTAINW) hooks N NX wnNn%? 71 NiIDMX AbstStack n NIYAIMA NIR7NN
D"270N D'NMATRN DX "D1'NA" NiI7apni

class StackImpl<T> extends AbstStack <T> {
public void push(T t) {...}
public void pop() {...}

NI901 NIXNAIT
DN NN 7vW D1"OXN NX'YXNT7 DNIVIV'NA VIN'Y |
AbstPoint 7w toString -1 distance o'nnwn =

N77NN) YNnunn 7Y TI7 X7 NN NI NN P2 YWONA DT =
(Mo>wnn 7w nE7nnn nwar'y ,and ynnunny

nan My'va NIKNAITTIY =
YN 7 D'10N UIN'Y Y'ATN N2 YIN'YN — AIX'YY NNAN IT

NX 9'0INY 1IV2Y 270 7wUn? Ind) D1ININ 019'07 NI7IYS 'oIN 'R WII'N =
nn'ion T INIX (concretization) wnann X7x ,(|27n7 Nniiyaxn mpn

DNMIAZRN DX N2 wnnY [N 0'0anN np'mrn VIT 'R UMMy NiNn7 =
bl
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1
(COMPARABLE) nxnwin |2 nait (NUMERIC) m90on pa xin (REAL) 'wnn 1oon =

class NUMERIC {

NUMERIC add (NUMERIC other);
NUMERIC subtract (NUMERIC other);

}

class COMPARABLE {

boolean lessThan (COMPARABLE other);
boolean lessThanEqual (COMPARABLE other);

INMUN UANY IR N Pl .
class REAL extends NUMERIC , COMPARABLE {

?Float NN nwIIr'n =
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class GoodDriver implements driver {
boolean signalBeforeTurns ()

{return true; };
}

Class OpportunisticDriver
extends GoodDriver, BadDriver
(not possible)

interface driver {

class BadDriver implements driver {
boolean signalBeforeTurns ()
{return false; };

}
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1
(770w 210 "7IN1) NaNN AwNr Javal 'k =

NNX 7Y Y'NNX &
NIAXD NNWO NIV V' B

ITN N'WAN DY NITTINNNA WX AIX'Y NINAN NNd Nintypg =B
DIV DYPNI

D'OYTN NNX 7V 1'7UN7 701 N1y NINANN NNN] A =
NN YN N [INN97

NiZ7nn nd>vn niN's — Bridge Design Pattern =
DIV D'A10N D'RYKRY NIP7NNN NNX7 QUKD ,NDIN
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NiMonn 'alo
AbstStack

VAR AN

ArrayListStack LinkedListStack StackedStack

NIMonn 'alo Tiy
AbstStack
/ AN \
BoundedStack LastModifiedStack SumStack
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1
NIR7NNN 3 7U YN 100 MY NRIYN NIgnnn 3 7w nwnqnaio -
NRINNNN

? SumArrayListStack 7wn? px o M0 =

NYAI'N AWTN nP'7nn XY [ (Eiffel I CH+ [120) nin'ion Niswa =
[N'Mun

75 NX RVANVY (INIP7NNn 9) Nt N79ON7 NND NNI N12ATh =
D' IYONN D'9N'¥N

NIE7NN Y QX791 X AT AT =

? Java 2 (SumArrayListStack IR XNAIT?) nWN' "'y INT wNnl 'R =
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AbstStack

JAN

ArrayListStack LinkedListStack StackedStack

A\ A\ yaN
Bounded LastModified sSum Bounded LastModified Sum
ArrayList ArraylList ArraylList Stacked Stacked Stacked
Stack Stack Stack Stack Stack Stack
Bounded LastModified\ Sum
LL LL LL
Stack Stack Stack
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]
nnnon =

N1 TIp 7190w =

?TwoWayStack [1IAD WTN OI9'0 9'0IN7 XN DR MZ' NN =
D'YVN 'NN 727 INIX Q'0IN% N )Y =

N'N"YIAN NDINN DX DN NN K7 N9Y7 NaNN NN N90In D =

nN'70N2 wimma nwin' nann XN Bridge n nnan v yximn jnnon =
(n7¥Xkn DY)

NNNX NIAY AIX'V NN V'5MmM ar |NNS =

D'ATANN X7 ('WINmMnl YYDINN) DIV QY1 YN 'Yy B
(D"7212IMNIR)
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Abstraction

- impl : Implementor

+ function()

RefinedAbstraction

Implementor

+ implementation()

- thi5.impl.implemantatiﬂn[ﬁ

+ refinedFunction()

Concretelmplementor

+ implementation()
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public interface IStack<T> {
public void push (T e);
public void pop ()
public T top ()

}

public class SimpleStack<T> implements IStack<T> {

private IStackImpl<T> impl;
// MyArrayList or MyLinkedList

public SimpleStack (IStackImpl<T> impl) {
this.impl = impl;
}

public void pop () { 4impl.remove() ; }
public void push (T e) { 4impl.insert(e); }
public T top() { return impl.get(0);}

Java nowa 1 NN
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public class LastModifiedStack<T> extends SimpleStack<T> ({
private Date lastModified;

public LastModifiedStack (IStackImpl<T> impl) {
super (impl) ;
lastModified = new Date() ;

}

/** Push element and update date */

public void push (T e) {
lastModified = new Date() ;
super .push (e) ;

}

/** Remove top element and update date */
public void pop() {
lastModified = new Date() ;
super.pop() ;

}

public Date getLastModified() {
return lastModified;

}

} Java nowva 1 nDIn
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public interface IStackImpl<T> {
public void insert (T e);
public void remove() ;

public T get(int index) ;

PwInn "l IStack pwmmn 'av 7T1an7 17 0w
IStackImpl

naonnn NX ax'n IStack pwinn =
nlonnn win'm nX ax'n IStackImpl pymnn =

n7ONn Istack NN nwnnnn SimpleStack np7nnn
IStackImpl NX NUNNNN Np7NN 7¥ yoIn

IStackImpl nyxann (AX") winm DIIx7 (winm) nwnN' =
Istack n y¥xann nowosn? nyann (wimm) nuin' =
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‘ArrayList NOTY] NI0NN YIN'M7 XNAIT ©

public class ArrayListStackImpl<E> implements IStackImpl<E> {

ArrayList<E> rep = new ArrayList<E>() ;

public E get(int index) { return rep.get(index) ; }
public void insert(E e) { rep.add(e); }
public void remove () { rep.remove(rep.size()-1); }

n

?N10NN 7W YyoIn IX'7 ["MIVnY 'oI9'0 NI AR 'R e

IStac teger> stack =

leStack<Integer> (new ArrayListStackImpl<Integer>()) ;

Bu
J AT Nan 7w nnnonn N e

before we

assume 0 1is

the

?DNIXIND7 NI IR °
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e
OI19'UN NN DWTI' X7 NN Java 1 nr'oln'7ion vwa =
DXV 7Y 2'Imn

0I19'0NN MIY NI'NT "WYY MNI'TH 0I9'VN =
'O00N

NIS0N NI7IY9 NI'N7 NIMIYY MNI'TN 0I19'0N NN =
NTAIN X7W NI71VD) yaxXmn OxXyn 7y yxa7 nav
(ruvvon oI19'va

D'OI9'V NNN YXA7 112V 17K NI7IYO 7'vyon7 'O W
n19nn 7y (Casting)
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Cast 0'019'0 NNN

7V qxn1 Cast X17aw MAIX 1I09IX NITYA N'YWYI DIR'AQ D'0I9'0 NN
M7 0NN MYX o19'oN owW'7 2'a0n 00 NAMMD T

(Type) <Expression>
(D"2'0'M"MI5 0'019'07 ON"NN 1'K |XD |I'TN)
<Expression> '1uxanw nxyn 1y Type 019'0n oIN' 1¥''N XIN
.019'07 O'XNN DXYN DX ,AVUNN
Type 019'07 D'RNN DXY7 ON"NN XY OIN'N DX NN'7¥N N71Y9N

i %% ninoe 019'07 oin' 7w nnn (downcast) nun%? NN
.DXVYN 7¥ '00O0N 019'0N 7Y KXKRY KIN Type o19'uNn

IN NP7NN) *770 AN 019'07 oIN 7w nnn (upcast) n7yn7 nnn
( PwIn
NY7'9N17 IX'AY NNIIA NNNXK NN D

N'D ;U191 1I0IDIX NDMI¥N X7 770 0T, NN ¥n Tnn nyn? nnnn
VTN TAX? 177907 Nnia VIYO

DNIN X7 Y2AXINN DXVN 0I19'0 NXM AT DX 707 n217V nuon? nnn
(CIassCastExceptlon N 7 r")) qQIVvn N'DINN Type 019'0Y

Java ﬂD
2'2N 7N NU'ONAMIN
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NX™M N7 '019'V

,N' T2 YX27 NX¥I1 NONN 70 197 — XY X7 02T X' NIDIN NOIVN
N1NN7 0'RNN DX 019'0NY

DXV7 NITY N9'0M IX NN'on N1'R Java 1 nnnn ' 17 0'w7 vt
(7un% C++ nowa slicing n niiwa) yaxmn
NMYON N10NN D 7T1) N'X7'ONi7 INTA =
(compatible types)

DXVN ?'TNNY D'NNYN NIR7A0] 12'Y YXINN 7N =
(11 ny'wa M7 Nt Rwn)

AN PNTNI 7'M N'PIN X7 NONN DX AT INKD =

N'TNNI) D'W2I¥NNT7 1 DNTAaM maxSide () XN7'RUN NXAN NNAITA
Shape np7nna IR XN7'RY [2md 'R (NI 22Iman Y730 IR DX
(nuwoin x7 0a)

NNIXD 70 'an NI A71TaN Y780 IR DX AWNT7 XN NIR7nwd
NINN Y¥271 7191 17 N2VINY DXYN 019'0 NX 127 NI 7V ,)vna
DXNN]



NX™M N7 '019'V

-1 NNTAaMN getClass NTINAN 'Y X'N NINT Y¥A7 NAR T &
:NP7Nn 721 0"'pn class 'vvon nTwnl Object

Shape [] shapeArr =
double maxSide = 0.0;
double tmpSide;
for (Shape shape : shapeArr) {
if (shape.getClass() == Polygon.class) {
tmpSide =((Polygon) shape) .maxSide() ;
if (tmpSide > maxSide)

maxSide = tmpSide; 0I9'UN NNIX A7 AN
} ? Triangle Ix Rectangle

\ n7'7NNAN '~ N'IN D'yy

I9SNNVY' X7 D71 Polygon
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instanceof

NI - YD RN is-a n'™9n DRN PTIA instanceof IVI9INN W
N'YUNNAN IX D' IX NZ7NNN NNIK 019'0N X' DXRN

Shape [] shapeArr =
double maxSide = 0.0;
double tmpSide;
for (Shape shape : shapeArr) ({
if (shape instanceof Polygon) {
tmpSide =((Polygon)shape) .maxSide() ;
if (tmpSide > maxSide)
maxSide = tmpSide;

Java nowva 1 n1In 26
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instanceof

7V >"T12 T'yn 0'myxy ninlain nioima Casting-a wvin'y w
2N7 nyvanw ("design-a axa") no>avnn 10N n'va
DT'O1IN'719] |01 X7 WINn'wn

D'wNNnYn YWKXD Casting-2 win'yn olm |'k 0D'N'Y7 =
IN, [DN'2AND 7V N0Y 17 'R AWK NIF770 N1DIN NIMB02
N1j71 0 INXRI U790 QN1 TWNRD TIA'N7 170 YT TWUNRD
'DONN 7Y NT'NY XN 077D

JNIN'YN X7 '7INT DT NN NINIY KNATN &
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NIMA NIFZ7NN X77 D'YIY An

I —
Java  0'oio'uv NNNA YIN'Y7 NINDWN NIXNAITA NNR B

1.5 Java 197 011Nl 11N win'vin XN

D'0I9'V] YNNWN? N0 [N X7 1.5 n07 Tyw |in m
D'ANNY NN7 NIMDBO0N 'AND 1X7X) ,(generics) n'7721n
Object ni7> nira n'%%7On np7nninn on

,N0NN 1Y NpNNn IX1 pwn 2Md7 o'y D N =
21 ,NITNNN 7W 110NN ,0'M%Y 7¢ N1oNN 1IX'7 TWORNY
Generics A vin'v X719

(NTINN X77) nunnn 7NNl ,n1oNN7 pwin — Xnaima .
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Nnonn pvin

interface Stack {
public Object top ();
public void push(Object t);
public void pop();
public boolean empty();
public boolean full();

Java nowa 1 NN
22X 7N NU'0NINIX
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OVIYO N10NnN vin'n

public class FixedCapacityStack implements Stack{

private Object [] content;
private int capacity;
private int topIndex;

public FixedCapacityStack(int capacity){
content = new Object[capacity];
this.capacity = capacity;
topIndex = -1;

b

public Object top () {
return content[topIndex];

)

Java nowva 1 n1In 31
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OVIYO N10NnN vin'n

public void push(Object t) {
content[++topIndex] = t;

h

public void pop() {
topIndex--;

}

public boolean empty() {
return (toplndex < 0);

}

public boolean full() {
return (topIndex >= capacity - 1) ;

h

Java nowa 1 NN
22X 7N NU'0NINIX
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710NN WNNwl 'N

]
NITNNN 7¥ nloNn 0'¥XNY N1 =

Stack s = new FixedCapacityStack(5);

s.push('"hello");

String t1 = s.top(); // compilation error
String t2 = (String) s.top(); //ok

OI19'0 ININN DN NI0NN7 D'01DINN DAXN "DV_J NTH? DMNDNNA NINNX =
S2wor Casting n nnx L, (NiTnnn [XD)

Stack s = new FixedCapacityStack(5);

s.push('"hello");

s.push(new Integer(4));

s.push(new PolarPoint(3,2));

String t2 = (String) s.top(); / /compilation ok. Runtime Error !
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D'OI9D'VU NIN'LA

NIN'VA O'TANN NNIX DX NTA N'YYI NnNNnnN D' 1Y [N =
D'OI9'V

720 NIQY NIR'TA NAVNT7 DIV X — XY 1'RY QT INT .
|
n'XY7'oN17 |NT7 NN
01T =

ITI7 2190w — 12'R 019'0 727 NTI91 NP7 NN/PYIn ANKR [INNS W

NIN'VI NV NX DA NN NOW7 0'770mMN D'0I9'VN NO0IN =
TIPN 7190w Ny NX DAl D'OI9'UN
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(n22a) N7 Ap'nn

1
127 YT' TAN? 72 TIp2 TN WIN'Y AWONYT TVIM n7700n [nman =

DXV 7 '"UNLON 0I9'LN

0I9'0UN NION"NN NNWN 'T' 2V YXANN TP TN WIN'Yy ,n77Dn % W
0I19'0N NX ITNW7 YT |'X VA INIXA ;770 NI ,ANX 019'07 TNN
NINN 72 NN 'uRLOoN

ANINND NIZTY ,NNNN2 IX YIN7 RN %7000 T'pon =

NYIN' oN' 21 N770NN [12211 2 N'YPRIVIRN 7721 0'DANoN D'VS5N W
(is-a-n on)

NIMIA X701 NIMAA NIKONA |2 NINKN Q0N 'y B
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TAIY DT N

1
FCStack<Something> ni?7mn nip7nnn 7 nx nonn Y7'onign =
FCStack<Object> nxya x'nw (n%73m X7) n7'a0 nnX np'7NnY

7V NN TR 9'oin 17Uonipn N7 Np7nnl ynnuny Tipa =
String 7wn? '9'x'oon 019'07 Object-n nmwn y¥a7 nin

7V Y'TIN X7 D71V71 N'9XN TN DONNNY XTIM 17v'onipn =
:ClassCastError

String t = (String) s.top():

'"WIN'Y XIN X' 7 onipnw Tipnn gnm (T) 272mn o1v'on i =
NP'NN X1 )'70NN ;N'Y7'9N17 AT 0'o0I9'0 NN NIFTAY N
(erasure)
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D'OIS5'V NIN'VAa

1
Stack <String> ss = new FCStack <String> (5);

[V ss.push("The letter A");

X| ss.push (new Integer(3))

V] string t = ss.top(); // same as: (String)ss.top() -,

NINNA IX TV 'K NY0NN N2 N7 NI nitnnn 7w juion =

Stack <Rectangle> sr = new FCStack <Rectangle>(5) ;

Rectangle rr = new Rectangle(...)
Rectangle rc = new ColoredRectangle(...)
ColoredRectangle cc = new ColoredRectangle(...)

sr.push(rr) ;
sr.push(rc) ;
[V] sr.push(cc) ;
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IS-a on'l N7'7On

Stack <String> ts = new FCStack <String> (5)
Stack <Object> to new FCStack <Object> (5);
to = ts;

ts.push("The letter A");

ts.push (new Integer(3)) ;

to.push (new Integer(3));

R E R E

FCStack<Object> 7w 110 N'X FCStack<String> :nmijyon =
122 72X "QA'O'RIVI'R K7 DT W

Java nowva 1 n1In 38
2'AN YN NV'ONAMIN



(AwnnA) is-a on'l n7'Dn

I ——
(Nx7on17 NXAW) NN X7 to = ts nnwnn =

(In™ann 1) 2T0a NT NRT Nny7? =
String [] as new String[5];
Object [] ao = as;

XN NT NNAY 771N YN 'Y win'y. .
ao[0] = new Integer(); // throws ArrayStoreException

Java nowv 7v Mipnn 1'ANN2 IT N¥19 0ONIo D'773In D'oI9'VA WIN'wn W

(NN a2 T o19'vn NP'NN 7722) " Nyn X7 M N7 =
content = new T[capacity] // compile error

(Type Safety Warning 0y) > N7 72N
content = (T[])new Object[capacity];
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(raw types) n'x1 n'oI9'V

NIZ7NN2 UIN'Y QWOXRT? IX D' P71 ,0NIKN DR'AT7 9o 77000 [nan =
NI7750 A 'KY W' TIPn DA NIMUVNIS

class FCStack <T> implements Stack <T> {..}
Stack <String> vs = new FCStack <String>();

Stack raw = new FCStack();
//same as: Stack<?> raw = new FCStack<Object>() ;

raw = vs,; // ok
vs = raw; //"unckecked" compiler warning

770 0T) "pvn 11aa"a 97nm o19'un C1VNL N1 oIV YIN'YA W
(Object
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D'"NYN XIN 71020

1
VNN 0I9'VN YII' NINNY PYWINN IX NR7NNN 7W DY XIN |I'7Y 7100 =
DXy 72V n71v9 75 y¥a7 N1 X7 Object Xin [I"'7vn 70an YwxD W

112N 019'VNN
ANKX |I'7V 7122 7907 [N MM 019'0U MMM ,P 7Y W

ININQ DTAMN D'NNYA NN1AN NR7NNN 9 UNNYN? QIWONR' QTN =
NINN2 I K77 17V 7122

public class SortedSetImplementation<T extends Comparable> {

T eleml = ...

T elem2 = ...

... eleml.compareTo( elem2) ....
expectComparable(eleml);
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112 Comparable

(raw) NX1 N01'A1 Comparable pPWINN 7w NINNAIT 1'KN

'M"Y1 N YINn'wn
NT? NT Comparable D1'X DN 72X Comparable DNNn NNX 70W 0MYY 1Y 1DN' =
Integer -l String :NNAIT7? =

NIN N2 YIN'yny ,N'"Mlan noY'an NX 9'1V1 11NIX

public class MyClass implements Comparable<MyClass> ({
public int compareTo (MyClass other) {

}
NXR YX2ANY NNY 0'y750nl ,ONXY7 IXRIYN "N N'MNXYY n|7'7nn D""TAN NIXT NIX2

NNIYNN
N7 710V1 X7) Ja10n MNI' NYYI AT AN N7 NR7Nn7 RN NNWOK 0'¥N OX
(oI
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NIrNTin

I'N NX™M AT ,NF'NNAN (12220 NIYXNAXR] Nwnimn 07200 nux'aaw 77222 =
0I9'0N NVNID7 DT

FCStack<String> 019'0n DXV |2 |'NANT7 AOWON 'K NXM N1 NI =
NN DX Nt ,01911 ,FCStack<Integer> 019'0n DXV |l
N?7NN NNINN DNIYY

7w niMnn ,(instanceof) nE7nn7? Nnd Y NprTA 7y y'own Nt W
static D'Inionn NITY V1,077 D'xy

AN17D ,019'0 VNI 'D 7Y 'RIAT NP7 NNYWOX vam N7l =
<T> void m(T x) { Ty = new T(); ...} // illegal

..nTN N2 TIY W'l &=
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wTNN

public static void printList(PrintWriter out, List list) {
for(int i=0, n=list.size(); i < n; i++) {
if (1 > 0) out.print(", ");
out.print(list.get (i) .toString()) ;

17703In 019'07 List NX NIW1 ANX7'oOnIp NNATRN yIn'n? *1> ™

public static void printList (PrintWriter out, List<Object> list) ({
for(int i=0, n=list.size(); i < n; i++) {
if (1 > 0) out.print(", ");
out.print(list.get (i) .toString()) ;

List<String> NINW7 1'AVUN7 N X7 210 X7 W
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public static void printList (PrintWriter out, List<?> list) {
for(int i=0, n=list.size(); i < n; i++) {
if (1 > 0) out.print(", ");
Object o = list.get(i);
out.print(o.toString()) ;

INd ,JI"7Y DON 7907 W' NN'YIN NAN 7V NI7IYS y¥a? Dy v -
NNY2

public static double sumList (List<? extends Number> list) ({
double total = 0.0;
for (Number n : list)
total += n.doubleValue() ;
return total;

D770 D'NNYI DAINNN D'oON DA W' W
public static Myclass addAll (Collection<? super Myclass> c, Myclass a)
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public class MyType<E> {
class Inner { }
static class Hested { }

public static void main(5tring[] args) {
MyType mt; /f warning: MyType is a raw type
MyType.Inner inn; // warning: MyType.Inner is a raw type

MyType.Nested nest; // no warning: not parameterized type
MyType<Object> mtl; // no warning: type parameter given
MyType<?» mt2; // no warning: type parameter given (wildcard OK!)
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List names = new ArrayList(); // warning: raw type!
names.add("John");

names.add("Mary");

names.add(Boolean.FALSE); // not a compilation error!

for (Object o : names) {
String name = (String) o;
System.out.println(name);
} // throws ClassCastException!
// java.lang.Boolean cannot be cast to java.lang.String
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List names = new ArraylList(); // warning: raw type!
names.add("John");

names.add("Mary");
names.add(Boolean.FALSE); // not a compilation error!

N\

List<String> names = new ArraylList<String>();
names.add("John");

names.add("Mary");
names.add(Boolean.FALSE); // compilation error!
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<Object>n niiwv RAW

void appendNewObject(List<Object> list) {
list.add(new Object());

¥

List<String> names = new ArraylList<String>();
appendNewObject(names); // compilation error!

?R1 LIST n22apEn Nh*'nN NTINNN ORXR7
PRI WINTW 20 1170TN NN
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(wildcard) <?>-n niiw RAW

static void appendNewObject(List<?> list) {
list.add(new Object()); // compilation error!

¥
/7.

List<String> names = new ArraylList<String>();
appendNewObject(names); // this part is fine!

<?>1 UnNNUN? VIW9 1N'1 R?
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N
void printCollection(Collection<?> ¢)
{
for (Objecte : ¢) {
System.out.printin(e);
}
}

//we can call it with any type of collection.
//Notice that inside printCollection(),

/lwe can still read elements from ¢ and give them type Object.
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N
void printCollection(Collection<?> ¢)
{
for (Objecte : ¢) {
System.out.printin(e);
}
}

//we can call it with any type of collection.
//Notice that inside printCollection(),

/lwe can still read elements from ¢ and give them type Object.

Collection<?> ¢ = new ArrayList<String>();
c.add(new Object()); // Compile time error
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generics niId'o

1

Ti 790W7 "0 nNnnn yan'n? A'woNn n7Dnn [1man =

DN ,?I'"T ON'7) 0'X1 D'OI9'0 12 ['KYI NIYAISA NNNN 1 'RY Ty =
N1'N2N NIV XIN (D'X) D'OI9'VA WIN'WAN A7 'NTN K7 17" 9nipn
(type safe) n'o19'v

INT? NNV NIZ'TAN (DX AT NNN VI W' R7 DD T =
n'X7'onipn

N70 NYPRIVI'RN 7720 0'019'0 7V NNNXN Jaon NN vmwn .
IS-a-n oN' |'a1 0'7701n D0'019'V ' N'A'V'RIVI'N

7V 172 X7 TIvI) NINTIM 190n 770 nux'aa niv'on 'y wimmin =
(...]7D

7w 4.1 7101 Xi¥n? M R (hMat,tmyn) 9 T .
Java in a Nutshell, 5th Edition By David Flanagan
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(assertions) nnyul nYIN

I —
’YIn IXR np'mn 112V NTAINY NNIMYI N2 'KIN 0T 'XIN =

DUIWYIL(PWINND 'wnnnl) NZ7NNn 'RYKRY 117 DA 0'97N
NNNwNY

IN] PWINN 019'0N N'™M9N 'V YAXINN NI NpP7nnn DXy =
PYINN NMINY NX 0"P7 )Y ,[0'0an Nnp7nn 019'V
[0'0an N7 Nn]

NI' DRTN IN QHY N7 NDMIX NR7NN 72 %9 Minwy [kon =
NN NINWnN

X7 DMWY AT 790 7V NTORN 'R ,OT'OIN'Y7I9N [1221n 7720 W
T D'ATIY '9) ,N1DINN NDIYNI NI'Ya
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e
M7 A NN 7w N7 X'n C np7nn =

(MITwn INR) A-7nmon C-7wu' =
IN

A 019'0Un T0N19 N7an C 7¥ NITINNN NNX =
(A7 n'mon)

NNIND"P?7 Anno¥nt AW mmmunnknmHon C w

D
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s
-n nvANnN npnn, A' -7 yraxn A -7 y'axnn ,7vioa =

A
D27 A7y 02'pn 0'OIM719 D'oN' 0MR7 'THOYW N B
A NMInY NX NIN97

n 57



N2 DT 'KIN — NMIYN N7y

—
A 7w r() n1'oin (overrides) noT A' np'nnn =

NYTNN NTINNAN 7¢ YNANE DTN 'RINN WNT?7 W' nn =
?NNIpEnn NM'NN Y 19K7 ona

7 1s

require
ensure
B
end
r s
require
3 Y
ensure
0 58

end



DT 'NIN — NN N7y

1
Cnpnnanyomnl.r () nXMpa pan) =

NN NN 7D XA v oTpn ANk o7 Chy m
A'.r() orrp v nyTr na'’i A" a7 nnn NN

IN DY NI'N7 NITAN NP7NN2 TN DTN 'RAN 7V D7 =
1NN DTN 'KINN NI YN

ris
require

ensure

B

end

A
require

(A > Y
ensure
0

end
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N2 'NIN — NN NIRT7AR

1
NI'N7 NN NR7NNN 7w N2N 'RIN 7V 0MIT 0Ip'en .

EMN NN 'KINN AN 27h IR nlY

O 910" DWrn NINKRNY oI A Yy B 'noain' C nip7?h m
1201 w7nn

(subcontracting) "niwn nnn%apE" Mmpn At pAaNn =

ris
require

ensure
B

end

s
require

4D ’
ensurg

0 60
end



N'A'YPZOXN MiNnun

I ——
70 7w 217 AND n naom np7nn v 'n'mmx’n nnmwn .

TIX7 NMIN 7221 NP7NNn NNIX NINYA NIY'SIMN NIRYOLN
nYiN'n Yy

NITAIN X7 NWN'D Yya nnion (n?7nn) nn Qv ox =
TRUE -> n%w nnmw? on"nn% N2 ,nmv

NTNINN NMIX2 N7Y NMYN DR Y'TaN7 7210 np?nn anpn =
TA72 NIWTNN NIvLN I "'y (implicit)
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1
NP7NN2 UTNN NTAINY NTINN 7¢ "N'MNX'N 0Tpn 'Nan W

701 1T NTINN 7Y 0TPN 'RIN 72 7w 2170 OR N XIn ,'aw'?D
NYIN'N YV NIX? 7NN NNIR 7¥ ANIn

'NIN NTAIN X7 DY YV nntion (nP'7nn) nna 11y ox .
FALSE -> oW DTpn 'RIN7 ON"NNY? |01 ,IT NTINNT DTy

?VITn .0'02N N77NN 11AY 09IN X7 AT [NV =

NP7NN2 UTNN NNTAINY NTINNAN 7W DTPN 'KAN2QND =
'y "'y (implicit) nTann NAIxa MR TN 7200,
TA72 NIYTNN NRYLN
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"A'0/OKX N2 'NXIN

—
N?77NN2 UThN MNTAINY nTINN 7w "nmx'n 1nan 'xan =

IT DTINN 7w Nan 'Ran D 7w 2170 AND o Xin 'nw'D
NYIN'N YV NIX? Np7nn NNIX 7¢ QNN D2

'NIN NTAIN X7 DY YV nntion (nP'7nn) nna 11y ox .
TRUE -> 0w DTN 'NXaN? on"nn7 N1 ,IT NTINN? 0Ty

NP7NN2 UTNN NTANY 2TINAN 7¢ 0NN 'KaN 2nn =
'y "y (implicit) ntann nxa mix TN 20w
TA72 NIYTNN NIYLN
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public class MATRIX {

/** inverse of current with precision epsilon

* @pre epsilon >= 10 ~(-6)

* @post (this.mult($prev(this)) - ONE) .norm <= epsilon
*/

void invert (double epsilon) ;
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NNAI'T

public class ACCURATE MATRIX extends MATRIX ({

/** inverse of current with precision epsilon

* @pre epsilon >= 104 (-20)

* @post (this.mult ($prev(this)) - ONE) .norm <=
epsilon/2

*/

void invert (double epsilon) ;
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D'TINI YN 7V TV

1
NTINN '770 2V NT'9pn NIN'A DNA7Y ,0'aN% qona W
MY NTIN '717'Yn D'YANY NS5W2A 0770 TIV W' ,nwinn

— NINTIN DX 1707 "nim [hwnnnn] noiTa nTinng =
' TANT NIOK 72X 2N AN NIXNY 0IVVO Y'TANT7 NI
NI DXNIXNA NIRY 01VVO

NN OXNX7 AN [nwnnnn] noYITn NnTINN? (5 Xo1'an) =
NN NIN ATNINN VN 019'0 1NI7D ATNIMN VN 019'0

N7Y 0'02N N7NNJ2 NTINNA ATNIMN YN 019'0 7Y 0I19'V
[[Pwin]]
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e
n1aonn ,Nonn Ni7nnn 3 A DN nn .

? Nnion 'M'72 nonn ,Nnion

naonn
/ / \\

n1aonn n1aonn

anion 'n'7a nnion

N?7NN] push NTINNAN 7W DTN 'NAN AN N &
?n1onn

Java nowva 1 n1In 67
2'AN YN NV'ONAMIN



LWOIN DT7 'NIN

"y prin' XN TR D (TRUE) 7 nirn? 715 X7 0T 'Ran
NNnioNN N1onnN

X'n £ull () YwXO '£ull () NIrfn%? "X 0TPN 'KIN
(false TN N'TANN NTINN IX) NVYWOIN NTINN
'TNN? NNION N0NN NP7NNA WTNN YTAINY
count () ==capacity()

NIONTIY NITINNA IX NIVYSIN NITINN 7'ONN DT 'NX1N
ovdIn D717 'X1N X721 NYIN'N TiNAa

naonnn "y PTANN DX '0Y21PN DTN 'KINY NINNY
11'W X77 IXWI OYUOINN DTN 'NIN NnionNn

Java nowa 1 NN
22X 7N NU'0NINIX
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LWOIN DT7 'NIN

1
D"7X'IMO DTR 'NIN ,N0WOIN 0'02N NP7NN TWUKD W

NIZ7NN 17N X7¢ 1, T'NY7 AX71 0'ys? 0NN
NITA)

NIVYOIN NIZ7NNA 191N 12T NI'R TNY7? 'R &

22 N2 D'AXI'M AWK NIDIN NDYN (NS0 XNAITA [A1AN]) =
D"MIOIXRI |IN'IX ,N10N |12 DY NMIANN
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7M1 NoY nnny - @2

NIZ7NN NI'TA2 N72'NNN X7 2070 7D NIZ7NNn DD 7W Ai?iaNn =
VEHICLE n wwa"w nrronmige

AIRPLANE -1 CAR niz7nnn 2y IR\l wimm 17nnaw "N aran =
NP70N0 1IN TR 7190w v F101,9N1Ivnn 1 NN (N7 W'y N7
[n'nw 7w JIM'nn nX 7onw VEHICLE - n'w'w

VEHICLE py 'k a0 "D gy =

VWOIN 0T 'KIN NIO NVYWOIN NP7NNN YWINT? OTAIN AT 'K L,IT 'R W
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VEHICLE

- N NNAIT

CAR BICYCLE

[ —
? VEHICLE np7nnn 7w go() nTimnn 7w DTn 'RIN 1NN =

NOYOIN N7IY97 DT 'KIN D I'K—1MO 7Y W
hasFuel() > niwTw LA N7 -7 CAR np'mMn Dy nn =
hasAir() |23 niwnTw noa n7—? BICYCLE npnnnoy nn =

"y print X7w Dan 7'oon 775 0a go() 7 o7 '~an v1an VEHICLE 'x m
?20MIvNIMm TNR X
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VEHICLE

/ N |INNS

CAR BICYCLE

1
NTIAVN NX nwyn canGo() (123 N1X7I2 NTINN -

IX) VEHICLE N2y TRUE n'tnnd Q1A nTinnn =
'97 ATAIN NNV NNX 73 112l (abstract > YTamw
NIIMKXN NP7NNN

X17'n7 Nd>MXY NN'n go() NTIMNN Dxya =
'NIN2 NYN9N 72 NN X7 )21 "go_because_you_can()"
"Yrmn" TN
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VI DT NYIN!' 0'NYSY?

—
790 TI? JOIN MWK 112 X'N nwN' &

7w "ann I0 XN nwNe (polymorphism) nirmaix-27n jman7 v =
N'NIDN NA'RIENT7ON

(NnTw) Anadpnn N7 721> B-7, A nwaBwnipna =

|'TV 72T 0N D201 YN 'on' M
has-a IX is-part-of on' nniy7 is-aon' =

N'N N'RWN) 19'n7 X7 72X To be is also to have nxt nniv? =
(N1pn XN N2 270 NI NN

"?0mw 17 nirn? 07D oRN" 7IKW? NN o'ysh =
yin v' NN XNAAIT? =

Yo IX YN W
?State -n nwnIr Massachusetts oxn =



N'NYnN Nion

—
NNNPYN 2 DX D27 VAN npnnn 7y =

IS-a on' =
no7NnNN |Npy =

NIDINN NDVNI D'NI'Y7 DINAN D 7V NNy 'R B

Rectangle ni7%nnn on' NnX X027 N0M1 :XNAIT? W
NYIN' NTya Square -
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public class Square { public class Rectangle

extends Square ({
protected double length;

public double getLength () { protected double width;

return length;

} public double getWidth() {
return width;
public double getWidth () { }

return length;
} public double area() {

*wi .
public double area () { return length*width;

return length*length; }

}
} Rectangle is NOT a Square — 'I77 aix'vn DN =

}

getLength () ==getWidth () NX 7'2n7 "x Square 7w aImnwnn 7wn7 =
2 7V My X7 Rectangle DNl =
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.

i
public class Rectangle { D''pPNN N7 92N is-a on! QNN =
protected double width; q97NNN TR

protected double length;

public double getWidth () { 702 yI2Ma wnnwn? N N7 m
return width; UNNYN? N'n N1 12 wpn

} |]27n2

public double getLength () {

1 1 1 — 1
return length; vy n'onnnvy |[Iidn —y'mSn Nt =

} 271 7w 210 XIN

public double area() { NN YNNI NRT D2 'R W
return length*width; ?12Mmi1 yian ninnn

}

public void widen (double delta) { DM NIYY? U DN 07yl B
width += delta; QAN

}

}
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